RE[RE]

F-1: WBEHE
B - 8B B ﬁgfi_ . =
(1) TYPE-A1 m2 24.106 1.224 mEE=-FEE+KRHE
(2) TYPE-B1 m2 10. 669 0.612 "
(3) TYPE-B2 m2 19.824 0. 549 "
(4) TYPE-B3 m2 11.978 0.612 "
(5) TYPE-C1 m2 10.732 1.712 "
(6) TYPE-C2 m2 7.013 0. 856 "
(7) TYPE-C3 m2 10. 982 0.275 "
"
&t m2 95. 304 5. 840 "
"
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2.2.1 TYPE-A1

TYPE-A1 fETH N=" 2 &
BRC-MZE R
e A= 9.943 m2
R HEB A= 2110 m2
&% - 12.053  m2
mF-112%%R
ZEad A= 0.612 m2

OF 31

fl @ §= §:20

TYPE-A{

S
n

FEE

L]

S= 1:20

)

. 5845 %7,

T

24.106  m2
1.224  m2
S= 1120

I- H 300 x 300 x 10 x
1- H 300 x 300x 10 x
2 - FLG PL M5 x 15 %
4 - FLG PL 180 x 15 x
2~ FLG PL 520 x 15 x
3 - WEB PL 270 x 10 x
12- RIB PL 270 x 10 x
4~ RIB PL 270 x 10
2 - RIB PL 270 x 10 x
t~ RIB FB Tix Bx
4~ RIB PL B5x 10 x
1- RIB PL 415 % 9x

o Jumndssu

N

—1

B

1150 (88400)
840 (38400
850
8i0
BI0
400
185
160

}
!
250
270 (58400} [
2n
27 i

2 - BED PL

400 x 22 x
2= RIBPL 136 x 15 x
8- RIB PL 136 » 15 x
2- STF PL 135 % 10x
2- 8TF PL 126 x 10 x
4- L 160 x 22 x
8- HmB M 22x
8- Iy} M o222
6 - Rod & 24 x
12 - t9b H 24
12 - o - ¥ 24
12 - 19k X 24

360
380
183
200
270
160
115 (F10T)

1450 (M2435°$),FLOTHR 24 )
LAl/HTRA] )

170



@ 88 : 1 - H 300%300%10%15%1150
S B VA 1]
A= 0.300%1. 150~ (0. 015%0. 300+0. 015%0. 163x4)
- EISUCTE
A= (0.300-0.010)*1.150
-DIJM|E
A= (0. 270%1. 150-0. 015%0. 850-0. 045%0. 580) *2
- FTI75VC LM
A= (0.300-0.010)* (1. 150-0. 580)
- FTISVCTE
A= AR5 RiEfhmE

@ 4 - 1 - H 300%300%10%15%840

- LIS UCEMR

A= 0.300%0. 840
- EISUCTE

A= (0. 300-0. 010) *0. 840
-DIJM|E

A= 0. 270%0. 840%2
- TS5V LM

A= (0. 300-0. 010) *0. 840
- FISVCTE

A= AR5 RiEfhmE

@ $f#R : PL
-2 — FLG PL 145%15%850
A= (0. 145%0. 850+0. 015 (0. 145%2+0. 850) ) *2

-5 - FLG PL 180+%15%810
A= (0. 180*0. 810+2+0. 015% (0. 180+0. 810) *2) x5
A= -(0. 400%0. 010+0. 185*0. 010*4+0. 160*0. 010) *5

* 2 - FLG PL 520+%15%810
A= (0.520%0. 810*2+0. 015% (0. 520+0. 810) *2) *2
A= -(0. 400%0. 010+0. 185%0. 010*4+0. 250*0. 010) *1

=3 - Web PL 270%10%400
A= (0. 270%0. 400%2-0. 270%0. 010%2) *3

0. 331

0.334

0.543

0.165

0. 000

m2

m2

m2

m2

m2

1.373

0. 252

0.244

0.454

0.244

0. 000

m2

m2

m2

m2

m2

m2

1.194

0. 281

1. 607
-0. 065

1.765
-0.014

0.632

m2

m2

m2
m2

m2
m2

m2



* 12 - Rib PL 270%10%185

A= (0.270%0. 185%2+0. 270%0. 010) 12 = 1.231 m2
4 - Rib PL 270%10%160
A= (0.270%0. 160%2+0. 270%0. 010%2-0. 270%0. 010%3) x4 = 0.335 m2
-2 - Rib PL 270%10%250
A= (0. 270%0. 250%2+0. 270%0. 010%2-0. 270%0. 010%3) *2 = 0.265 m2
4 - Rib PL 85%10%270
A= (0. 085%0. 270%2+0. 270%0. 010) x4 = 0.194 m2
1 - Rib PL 415%9%270
A= (0. 415%0. 270%2+0. 270%0. 009) *1 = 0.227 m2
» 2 — Bed PL 400%22%360 (F-11%F%R)
A= (0. 400%0. 360*2+ (0. 400+0. 360) *2x0. 022) *2 = 0.643 m2
A= —(0.015%0. 380+0. 015%0. 163*4) *2 = -0.031 m2
=2 - Rib PL 136%15%380
A= (0. 136%0. 380%2+0. 015%0. 136%2-0. 015%0. 136%4) *1 = 0.099 m2
A= (0. 136%0. 380+0. 136%0. 153%2+0. 015%0. 136%2-0. 015%0. 136*2) *2
= 0.187 m2
-8 - Rib PL 136%15%163
A= (0. 136%0. 163%2+0. 015%0. 136) *8 = 0.3711  m2
-2 - Sti PL 136%10%200
A= (0. 136%0. 200) *2 = 0.054 m2
-2 - Sti PL 126%10%270
A= (0. 126%0. 270) *2 = 0.068 m2
- 4 - 160%22%160
A= (0. 160%0. 160+0. 160*%0. 022x4) x4 = 0.159 m2
H = 8.008 m2
INEE = 10.575 m2



@ $ERR
- BRIV AL (4 22.5) : N=16FL
A= -7 /4%0.022572 = -0.0004 m2 *x 16 = -0. 006

" NATUEA0y FEATH ($28.6) : N=24FL
A= -7 /4%0.0286"2 = -0.0006 m2 x 24 = -0.014

i o= -0. 020

4
—
1

10. 555

O/hit
1) RC-3Z%H

A= 10.555 -  0.612 = 9.943
2) F-112% % (Bed&B#1)

A= 0.643 -0.031 = 0.612



QD RHE

220

]
t
r

r
il
o

LH £330
6-f 150X 75%6.5 X810
4-Rib FBHOX{6X 160
6-Anch P1 160X 15X {60
2-Base P] 220X {0%Xg10
12-HTB  M16x55 (F-iv-w)
12-HTB  MiI6x60 ( - )

@ F8M - 6 - [ 150%75%6. 5%810
A= ((0.150+0. 07592) 0. 810-0. 075%0. 420) *6

@ #f#R - PL
4 - Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *4

* 6 — Anch PL 160%15%160
A= (0. 160*0. 160+0. 160*4*0. 015) *6

+ 2 - Base PL 220%10%810
A= (0. 220*0. 810+ (0. 220+0. 810) *2%0. 010) *2

» 2 - PL 170%12%200
A= (0. 170%0. 200%2+ (0. 170%2+0. 200) *0. 012) *2

E__

v 3 1B
shhns ks

ABMEEENRTACTAL

1.278

0. 081

0.211

0.398

0.149

m2

m2

m2

m2

m2

@ R
- RABNATU248y FEFH (628. 6)
FLEAI+ (9 28.6) : 12FL
A= -7 /4%0. 028672 = -0.0006 m2 * 12

2.117

-0. 007

m2

m2

N

2.110

m2



2.2.2 TYPE-B1

TYPE-B1 JE T &% N= 1 EfF
WRC-II &%
EEH A= 7.913  m2
KA A= 2.756  m2
& i = 10.669  m2 x 1 = 10.669 m2
WF-11Z2%%R
ZEEH A= 0.612 m2 x 1 = 0.612 m2

OF 31

o TYPE-B
CHEE srn L B @ B s oo

% g’i 5 m_;ﬁ‘ ; { I ]

:

_Base Pl t=iD
7:2- £ A HmA, ) S 72a- RAGIADBIE
1,020 l 1,020
2,040

R EHE® seen
1 5

§

29. Ew4l

1

20,
5_4: %48 -4 t @
= N > T @
N +«’

]
2- K 300 x 300 x 10 x 840 (S5400) | 2 - BED PL 400 « 22 x 360
2- FLG PL 270 x 15 % 1140 2- RIB PL 136 x 15x 380
2~ FLG PL 180 x 15 x 1140 8- RIB PL 136« 15 % 163
2- PG PL 180 x 15x 1140 6- PL 160 x 22x 160
3- NEB PL 210x 10x 730 ' B- HTB M 22k 115 {F10T) -
12 - RIB PL 270 « 10x 185 8- tob ¥ o2 (as) ~
2 - RIB PL 20 % 10x 160 6~ fod b 24 x 1450 (M2435° 4, FI0THE ) r
4~ RIB PL 270 x 10 x 250 12 - #9b o 24 { 13 /HIBA)
2- RIB PL 165 x 10x 270 12 - 99 N4 (HTBAY)
4- RIBBL 85 x l0x 270 | 12- $eb N2 (3e)



@ 88 - 1 - H 300%300%10%15%840

S B VA 1]
A= 0.300x0. 840- (0. 015%0. 100%2) = 0.249 m2
- EISUCTE
A= (0. 300-0. 010) *0. 840 = 0.244 m2
-DIJM|E
A= 0. 270%0. 840%2 = 0.454 m2
- FTI75VC LM
A= (0. 300-0. 010) *0. 840 = 0.244 m2
- FTISVCTE
A= AR5 RiEfhmE = 0.000 m2
o= 1.191 m2
@ 4 - 1 - H 300%300%10%15%840
- LIS UCEMR
A= 0.300%0. 840- (0. 015%0. 100%2) = 0.249 m2
- EIS5VCTHE
A= (0. 300-0. 010) *0. 840 = 0.244 m2
-DIJM|
A= 0.270%0. 840%2 = 0.454 m2
- FTI25VCEE
A= (0. 300-0. 010) *0. 840 = 0.244 m2
- FTI25VCTHE
A= AEEXREME = 0.000 m2
HAE 1.191 m2
@ #f#R : PL
- 2 - FLG PL 270%15x1140
A= (0. 270%1. 140+0. 015% (0. 145%2+0. 850) ) *2 = 0.650 m2
-2 - FLG PL 180%15x1140
A= (0. 180%1. 140%2+0. 015% (0. 180+1. 140) %2) %2 = 0.900 m2
A= —(0. 400%0. 010+0. 185%0. 010%4+0. 160%0. 010) *2 = -0.026 m2
-2 - FLG PL 180%15x1140
A= (0. 180%1. 140%2+0. 015% (0. 180+1. 140) %2) %2 = 0.900 m2
A= (0. 400%0. 010+0. 185%0. 010%4+0. 250%0. 010) *T1 = -0.014 m2
- 3 - Web PL 270%10%185
A= (0. 270%0. 185%2-0. 270%0. 010%2) *3 = 0.284 m2



* 12 - Rib PL 270%10%185

A= (0. 270%0. 185%2+0. 270x0. 010) *12 = 1.231 m2
=2 - Rib PL 270%10%160
A= (0.270%0. 160%2+0. 270%0. 010%x2-0. 270x0. 010%3) *2 = 0.167 m2
-2 - Rib PL 270%10%250
A= (0. 270%0. 250%2+0. 270%0. 010%2-0. 270%0. 010%3) *2 = 0.265 m2
=2 - Rib PL 165%10%270
A= (0. 165%0. 270%2+0. 270x0. 010) *2 = 0.184 m2
-4 - Rib PL 85%10%270
A= (0. 085%0. 270%2+0. 270x0. 010) *4 = 0.194 m2
« 2 — Bed PL 400%22%x360 (F-11Z&X%)
A= (0. 400%0. 360*2+ (0. 400+0. 360) *2x0. 022) *2 = 0.643 m2
A= —(0.015%0. 380+0. 015%0. 163*4) *2 = -0.031 m2
=2 - Rib PL 136%15%380
A= (0. 136%0. 380%2+0. 015%0. 136%2-0. 015%0. 136%4) *1 = 0.099 m2
A= (0. 136%0. 380+0. 136%0. 153%2+0. 015%0. 136%2-0. 015%0. 136*2) *2
= 0.187 m2
-8 - Rib PL 136%15%163
A= (0. 136%0. 163+2+0. 015%0. 136) *8 = 0.371  m2
-4 - 160%22%160
A= (0. 160%0. 160+0. 160*%0. 022x4) x4 = 0.159 m2
H = 6.163 m2
INEF = 8.545 m2



@ $ERR
- BRIV AL (4 22.5) : N=16FL
A= -7 /4%0.022572 = -0.0004 m2 *x 16 = -0. 006

NATUEA40Y FEFF($28.6) : N=247

A= -7 /4%0. 028672 -0.014 m2
-0.020 m2
= 8.525 m2
O/hit
1) RC-3Z%H
A= 8525 -  0.612 7.913 m2
2) F-112% % (Bed&B#1)
A= 0.643 -0.031 0.612 m2



QD RHE

T?j
é HTE-M10
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i~ - ) j ik S8
- 1 .
g E 14 R Y
1,090 , 1,070 | Shushls
6-[ 50X 75X6.5 X1,140 (SS400)  12-HTB M16 X 55 { F-n"- w) L L
6-Rib FBBOX{E X {60C v ) 12-HTB MI6Xx65( u )
6-Anch P1 160%15 X {50
3-Base P1 22010 X1140
@ M8l - 6 - [ 150%x75%6. 5x1140
A= ((0.150+0. 0759%2) 1. 140-0. 075%0. 420) *6 = 1.875 m2
@ #f#R - PL
» 6- Rib FB 50%16%160
A= (0. 050%0. 1602+ (0. 050%2+0. 160) *0. 016) *6 = 0.121 m2
6 — Anch PL 160%15%160
A= (0. 160x0. 160+0. 160*4x0. 015) *6 = 0.211 m2
- 3 — Base PL 220%10%1140
A= (0.220%1. 140+ (0. 220+1. 140) *2x0. 010) *2 = 0.556 m2
= 2.763 m2
Q ¥
s RABNATZA40y FEATH (¢ 28.6)
FLEAIF (0 28.6) : 127,
A= -7 /4%0.0286"2 = -0.0006 m2 * 12 = -0.007 m2
I = 2.756 m2



2.2.3 TYPE-B2

TYPE-B2 fE T &K N 1
ERC-MIFEHX %
PaY A o
RAE A= 2.756  m2
a & = 19.824  m2 .
WF-112ER
ZEad A= 0.549 m2 . 1
MZEE
' TYPE-B2
LN ] 5= 1:20

2,400
1,700

Wy

.l |
%_&mﬂ_&m
200}

i i e i
i l - 1 B40
@\lﬁ;w
1200 1020 —
2,040
SF- E S=1:20
- G

t

19.824  m2

0.549 m2

W @ 5= 1:20

28, 64 + -l—r\
o
i: ™ z G4 b Lnd
1 AL ELOER .

= =

& l L3O, %ﬂ }\o 0. t @\

i \R -

ﬁ \ i o ! io I ©

[ s
|
2- H 300 x 300 x 10 x 840 (S5400) | 2~ BED PL 380 x 22x 340
2- FLG PL 270 = 15 x 1140 ’ 1 - F.G PL 400 x 15 x 2400
2- FIG PL 180 x 16 x 1140 1 - WEB PL 821 % 10 % 2380
2- FLG PL 180 x 15 x 1140 | 4-RIBPL 400 x 10x 621
3- WEB PL 270 % 10 x 730 8- RIB PL 153 = 10« 621
i2- RIB PL 270 % 10% 185 §- L 160 x 22 % 160
2- RIB PL 210 x 10 x 160 8- HTB M 22x 130 (F107)
4- RIB PL 270 x 10 x 250 8- tvh N 22 (3m)
2- 8lB PL 166 x 0= 270 | 8- Bod @ 24 x 1450 (M2435° 39, F10THE )
4- &IB PL B5x 10x 270 12 - ob M 24 (18/HTB
12 - M N 24 {(HIBFI)
12 - tob M 24 (31)

00




@ 88 : 1 - H 300%300%10%15%840

S B VA 1]

A= 0.300x0. 840- (0. 015%0. 100%2)
- EISUCTE

A= (0. 300-0. 010) *0. 840
-DIJM|E

A= 0. 270%0. 840%2
- FTI75VC LM

A= (0. 300-0. 010) *0. 840
- FTISVCTE

A= AR5 RiEfhmE

. 249

. 244

. 454

. 244

. 000

m2

m2

m2

m2

m2

@ 4 - 1 - H 300%300%10%15%840

- LIS UCEMR

A= 0.300%0. 840- (0. 015%0. 100%2)
- EIS5VCTHE

A= (0.300-0. 010) *0. 840
- DIJM|E

A= 0.270%0. 840%2
- FTI25VCEE

A= (0.300-0. 010) *0. 840
- FTI25VCTHE

A= A{EERHEME

191

. 249

.244

454

.244

. 000

m2

m2

m2

m2

m2

m2

@ #f#R : PL
»2 - FLG PL 270%15%1140
A= (0.270%1. 140+0. 015% (0. 145%2+0. 850) ) *2

-2 - FLG PL 180+*15%1140
(0. 180%1. 140%2+0. 015+ (0. 180+1. 140) *2) *2
- (0. 400%0. 010+0. 185%0. 010%4+0. 160«0. 010) *2

> >
1 I}

-2 - FLG PL 180+*15%1140
A= (0. 180*1. 140*2+0. 015% (0. 180+1. 140) *2) *2
A= -(0. 400*0. 010+0. 185*0. 0104+0. 250*0. 010) *1

=3 — Web PL 270%10%730
A= (0. 270%0. 730%2-0. 270%0. 010%2) *3

191

. 650

.900
. 026

.900
.014

. 166

m2

m2

m2
m2

m2
m2

m2



* 12 - Rib PL 270%10%185
A= (0. 270%0. 185%2+0. 270%0. 010) *12

* 2 - Rib PL 270%10%160
A= (0. 270%0. 160%2+0. 270*0. 010*2-0. 270*0. 010%3) *2

4 - Rib PL 270%10%250
A= (0. 270%0. 250*2+0. 270*0. 010%2-0. 270%0. 010%3) *4

* 2 - Rib PL 165%10%270
A= (0. 165%0. 270%2+0. 270%0. 010) *2

4 - Rib PL 85%10%270
A= (0. 085*0. 270%2+0. 270%0. 010) *4

- 2 - Bed PL 380%22+340 (F-11Z% %)
A= (0. 380%0. 340%2+ (0. 380+0. 340) *2x0. 022) *2
A= -(0.015%0. 380+0. 015%0. 163*4) *2

-1 - Flg PL 400%15%2400
A= (0. 400%2. 400%2+ (0. 4000+2. 400) *2*0. 015) *1

-1 - Web PL 621+10%2380
A= 0.621%2. 380%2

4 - Rib PL 400+%10%621
A= (0. 400%0. 621%2+0. 010*0. 400%2-0. 015%0. 136%4) x4
A

* 8 - Rib PL 153%10%621
A= (0. 153*0. 621%2+0. 0100. 153) *8

« 4 - 160%22%160
A= (0. 160%0. 160+0. 160%0. 022%4) x4

(0. 136x0. 380+0. 136+%0. 153%2+0. 015%0. 136%2-0. 015%0. 136%2) *2

. 231

. 167

.529

.184

.194

. 580
. 031

. 004

. 956

. 987

. 187

.532

. 159

m2

m2

m2

m2

m2

m2
m2

m2

m2

m2

m2

m2

m2

15.

255

m2

17.

637

m2



@ $ERR
- BRIV AL (4 22.5) : N=16FL
A= -7 /4%0.022572 = -0.0004 m2 *x 16 = -0. 006

" NATUEA0y FEATH ($28.6) : N=24FL
A= -7 /4%0.0286"2 = -0.0006 m2 x 24 = -0.014

i o= -0. 020

4
—
1

17.617

O/Mat

1) RC-3ZE X
A= 17.617 - 0.549 = 17.068

2) F-112% % (Bed#B#1)

A= 0.580 -0.031 0.549



QD RHE

220 ﬁ*{ﬂ

A EY
b uebls §. 0820 ] 1, 020 : :
R 6-[ {50X75X6.5 X 1,140 (SS400)  12-HTB MI6X55 (F-iv-W)

6-Rib FB50%16 X 160C - )
6-Anch P} 160X 15 X160
3-Bace P1 220X {0 X1140

@ F8M - 6 — [ 150%75%6. 5%1140
A= ((0.150+0. 07592) *1. 140-0. 075%0. 420) *6

@ #f#R - PL
» 6- Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *6

* 6 — Anch PL 160%15%160
A= (0. 160*0. 160+0. 160*4*0. 015) *6

+ 3 - Base PL 220+10%1140
A= (0.220%1. 140+ (0. 220+1. 140) *x2%0. 010) *2

@ #ERx
*RARNA TR 40y FEAHFL (¢ 28.6)
FLEAIF (4 28.6) : 12F,
A= -7 /4x0. 028672 = -0. 0006

12 -HTB M16x65 (F-"~w)

1. 875

0.121

0.211

0. 556

m2

m2

m2

m2

* 12

2.763

-0. 007

m2

m2

2.756

m2



2.2.4 TYPE-B3

m2

m2

B30 1682

B55

TYPE-B3 jife TE % N= 1 &Ffr
BRC-II#EEZ
EEE A= 9.107 m2
RH% A= 2.871 m2
5 % = 11.978 m2 * 1 = 11.978
WF-113%R
ZEEE A= 0.612 m2 * 1 = 0.612
(HEEE
A @ §= 1:20 : ¥ & §= 120
SN S S o
‘ 0) ® ® 200,
2
; ! i
Q LY
0 174 3 Lr b @
N f
I S | s {pelye
= 3 ;
Buce PY t=iD
i ¥ - =
B &
7 ! Base Pl t=10
/B0 1020 1020 80
2040 1.190
I @ 5= 120
3 B
%28.5 3L
98
bl 7 10 26.5 x45%& 3L 4
) 2
5 ey
O [ " |L J: ﬁ
~]
= 4 >4 5 T E
| 5
o e & e ®]
g e ) \ / 4
‘ N 3’ | \.\:‘\\\\\/
nlredd] F77 Y Tl G0
2 -H 300X 300% 10X 15X 840 (5SHD) 2-Bad B 400 x 22 x 360
2-Flg B 270 <« i5 x /190 2-Rib B 9 < 15 < 380
2-Flg & 180 « 15 x 1190 & -Rib R. Gb % /5 x (b3
2-Flg 2 180 <15 » 11§ - 60 22 < 160
3-Webf 270 <~ /0 < 780 & -Bolf M2z x 15 CHT BoltFvoT)
12-Ribfl 270 <10 % /85 8- Tk M22 (3 FE)SS40
2-RibB 270 x10 = 160 & - Rod #24 < 1450 (MIFSP, FIOTARS)
4-Ribfe 270 <10 « 250 12 - Twb Mz (1FL/H.T 8ot R
2-Rib€ 165 ~10 « 270 12 = Fwtk M24 (IFL) (SS400)
+-Ribff 85 x10 =« 270 F2 -Tayv- (M24/M X A)




@ 88 : 1 - H 300%300%10%15%840

S B VA 1]

A= 0.300x0. 840- (0. 015%0. 100%2)
- EISUCTE

A= (0. 300-0. 010) *0. 840
-DIJM|E

A= 0. 270%0. 840%2
- FTI75VC LM

A= (0. 300-0. 010) *0. 840
- FTISVCTE

A= AR5 RiEfhmE

. 249

. 244

. 454

. 244

. 000

m2

m2

m2

m2

m2

@ 4 - 1 - H 300%300%10%15%840

- LIS UCEMR

A= 0.300%0. 840- (0. 015%0. 100%2)
- EIS5VCTHE

A= (0.300-0. 010) *0. 840
- DIJM|E

A= 0.270%0. 840%2
- FTI25VCEE

A= (0.300-0. 010) *0. 840
- FTI25VCTHE

A= A{EERHEME

191

. 249

.244

454

.244

. 000

m2

m2

m2

m2

m2

m2

@ #f#R : PL
«2 - FLG PL 270%15%1190
A= (0.270%1. 190+0. 015% (0. 270%2+1. 190) ) *2

-2 - FLG PL 180+%15%1190
(0. 180%1. 190%2+0. 015+ (0. 180+1. 190) *2) *2
- (0. 400%0. 010+0. 185%0. 010%4+0. 160«0. 010) *2

> >
1 I}

-2 - FLG PL 180+%15%1190
A= (0. 180*1. 190*2+0. 015% (0. 180+1. 190) *2) *2
A= -(0. 400*0. 010+0. 185*0. 0104+0. 250*0. 010) *1

=3 — Web PL 270%10%780
A= (0. 270%0. 780%2-0. 270%0. 010%2) *3

191

. 695

. 939
. 026

. 939
.014

247

m2

m2

m2
m2

m2
m2

m2



* 12 - Rib PL 270%10%185
A= (0. 270%0. 185%2+0. 270%0. 010) *12

* 2 - Rib PL 270%10%160
A= (0. 270%0. 160%2+0. 270*0. 010*2-0. 270*0. 010%3) *2

4 - Rib PL 270%10%250
A= (0. 270%0. 250*2+0. 270*0. 010%2-0. 270%0. 010%3) *4

* 2 - Rib PL 165%10%270
A= (0. 165%0. 270%2+0. 270%0. 010) *2

4 - Rib PL 85%10%270
A= (0. 085*0. 270%2+0. 270%0. 010) *4

- 2 - Bed PL 400%22%360  (F-11Z% %)
A= (0. 400%0. 360%2+ (0. 400+0. 360) *2x0. 022) *2
A= -(0.015%0. 380+0. 015%0. 163*4) *2

* 2 - Rib PL 96+%15%380
A= (0. 096%0. 380%2+0. 015%0. 380*2-0. 015%0. 136%4) *2

* 8 — Rib PL 96%15%163
A= (0. 096%0. 163%2+0. 015%0. 163) *8

« 6 — 160%22%160
A= (0. 160%0. 160+0. 1600, 022x4) %6

@ #ERx
- BRIV AL (4 22.5) : N=16FL
A= -7 /4%0.022572 = -0.0004 m2

N T4 0y FEFFL (9 28.6) : N=247,
A= -7 /4%0.0286"2 = -0.0006 m2 =

. 231

. 167

.529

.184

.194

. 643
-0.

031

. 152

.270

.238

m2

m2

m2

m2

m2

m2
m2

m2

m2

m2

. 357

m2

16

24

. 139

. 006

.014

m2

m2

m2

. 020

m2

.119

m2



O/t

1) RC-3ZE X
A= 9.719 - 0.612

2) F-112% % (Bed#B#1)
A= 0.643 -0.031

9.107

0.612

m2

m2



QD RHE

RAEWEP S48 R
180, 220 £ ]
160 r_‘_.cl rA'-JT ~7
N 1
] 3 J’J_ T
s ! ]
+r & ’ g ‘ /80 W
= - = e '-F & . /80 | {t_ﬂ.mo_ (F1o7. I
.1‘&.. 7850
o
B . s T
S —E=EeE==
M | Yo e
1,020 | 1,020 | B
6-[ 150XT5X6.5 X1, 190 (sS40 f-;i’ /8%
6-Rib P1 50%15 X 160 Ry ~
6-Anch P1 160%15 X §50 LE. ST =
3-Bace P1 220X10 X /90 NS~
JZ-HTB MG « 54 (F/OT,T¥) ey 2554
PZ-HTE Mt + 55 C = , » )
@ T8 - 6 — [ 150%75%6. 51190
A= ((0. 150+0. 0759%2) 1. 190-0. 075*0. 420) *6 = 1.966 m2
@ #f#R - PL
» 6- Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *6 = 0.121 m2
6 — Anch PL 160%15%160
A= (0. 160x0. 160+0. 160*4x0. 015) %6 = 0.211 m2
- 3 - Base PL 220%10%1190
A= (0.220%1. 190+ (0. 220+1. 190) *2x0. 010) *2 = 0.580 m2
®H = 2.878 m2
@ =k
- RABNATU248y FEFH (628. 6)
FLEAIT (¢ 28.6) : 127
A= -7 /4%0.0286"2 = -0.0006 m2 *x 12 = -0.007 m2
N E = 2.8711 m2



2.2.5 TYPE-C1

TYPE-C1 e T B % N= 2 &Ffr
ERC-IIEEHR
oy A= 3.752  m2
RH% A= 1.614  m2
& E = 5.366 m2 * 2 = 10. 732 m2
BF-11E%ER
Ly A= 0.856 m2 * 2 = 1.7112  m2
M&EE
TYPE-CH
A B 5= 1:20 T 5= 1: 20
B A-A B-B
) 0Q &I0
0
&
>z%>§ 3
5 =
=§ﬂ__§.
Basc P] t=10 =
Ai0 {
Srer
IR : . 8
e S NI
BN( &
3 §% Tl = > T @
2 ‘& &[]
¥ ‘ \@<
| Ry n
\—”ﬂL Fy2 Tl &ibr”
al !
&2 84
J
I-H Q. 300 10415« b2OSSHE) #-Rib FL [86 + 1€ . 143
+—7ﬂ 180~ 1§ « BIO L O2-SHFAL 135 . 16 270
2-Web AL 270« 1O~ $CD | - L 1D .22« 180
E-Rib A 270« 10 . }88 8Bt M2 « 1S (H.T Bolt FroT)
FRb AL 270 4 JO 4 JEO S-Tob MIZ (IMOEGS D)
2R A TE .« JO . 270 F-Rod. T2t « [ 50 (M2t AT FLOTHEY)
2-Rb A B8 /0. 270 8 -1yl Mot (/ M/ HT Lot B FIOT)
1-Bed AL 380 « 221 &80 =75k M2t (3 SSFD)

TRb A 136 « 155 SFO 8- Duse-(Hit/ MER)



@ 88 - 1 - H 300%300%10%15%620

i S VA of 1

A= 0.300%0. 620- (0. 015%0. 300+0. 015%0. 163%4)
- IS UCTE

A= (0.300-0.010)*0. 620
-DIJM|

A= (0. 270%0. 620-0. 015%0. 850-0. 045%0. 580) *2
- TSV ER

A= (0. 300-0. 010) * (0. 620-0. 580)
- TS UCTE

A= ARIEE RiEfE

@ $f#R - PL

4 - FLG PL 180%15%810
A= (0. 180*0. 810+0. 015% (0. 180%2+0. 810) ) *4

-2 - Web PL 270%10%400
A= (0. 270%0. 400%2-0. 270%0. 010%2) *2

- 8 — Rib PL 270%10%185
A= (0. 270%0. 185%2+0. 270«0. 010) *8

*4 - Rib PL 270%10%160
A= (0. 270%0. 160*2+0. 270*0. 010%2-0. 270%0. 010%3) x4

»2 - Rib PL 75%10%270
A= (0. 075%0. 270%2+0. 270*0. 010*2-0. 270%0. 010%3) *2

* 2 - Rib PL 85%10%270
A= (0. 085*0. 270%2+0. 270+0. 010) *2

- 1 - Bed PL 360%22%560 (F-11%%E%R)
A= (0. 360*0. 5602+ (0. 360+0. 560) *2x0. 022) *2
A= —(0. 015%0. 380+0. 015%0. 163%4) *2

* 1 - Rib PL 136%15%540
A= (0. 136%0. 540*2+0. 015%0. 136%2-0. 015%0. 136%4) *1
A

*4 - Rib PL 136%15%163
A= (0. 136%0. 163%2+0. 015x0. 136) *4

172

.180

. 257

.012

. 000

m2

m2

m2

m2

m2

(0. 136x0. 380+0. 136%0. 153%2+0. 015%0. 136%2-0. 015%0. 136%2) *2

. 621

. 653

A1

. 821

. 335

.076

. 097

. 887
. 031

143

.187

. 186

m2

m2

m2

m2

m2

m2

m2

m2
m2

m2

m2

m2



»2 - Sti PL 135%10%270
A= (0. 135%0. 270) *2

« 4 - 160%22%160
A= (0. 160%0. 160+0. 160%0. 022%4) x4

@ $ERR
- BRIV BAL(622.5) - N=16FL
A= -7 /4%0. 022572 = -0.0004 m2

"NATUEA8 Y FERMFH ($28.6) : N=24FL
A= -7 /4%0.0286"2 = -0.0006 m2

O/hat

1) RC-3ZE %
A= 4,608 -  0.856

2) F-112% % (Bed&f#1)
A= 0.887 -0.031

*

*

0.073

0.159

m2

m2

4.007

m2

16

24

4.628

-0. 006

-0.014

m2

m2

m2

-0.020

m2

4.608

3. 752

0. 856

m2

m2

m2



QD RHE

180

265 |
- b
B =

]

4~ 160%X75%6.5 XB10 (SS#00)
4-Rib P1 50X {6X 160
4-Anch P1 160X 15X 160

2-Base P1 220X 10X 8/0
Z-HTB Mi& x & (FIOT,Li%?
8-HTB Mt 2S5 ( » , = )

@ F8m - 4 - [ 150%75%6. 5%810
A= ((0. 150+0. 0759%2) 0. 810-0. 075%0. 420) x4

@ $f#R : PL
4 - Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *4

* 4 - Anch PL 160%15%160
A= (0. 160*0. 160+0. 160*4*0. 015) *4

+ 2 - Base PL 220%10%810
A= (0. 220*0. 810+ (0. 220+0. 810) *2%0. 010) *2

» 2 - PL 170%12%200
A= (0. 170%0. 200%2+ (0. 170%2+0. 200) *0. 012) *2

. 852

. 081

141

. 398

. 149

m2

m2

m2

m2

m2

@ R
- RABNATU248y FEFH (628. 6)
FLEAI+ (9 28.6) : 12FL
A= -7 /4%0. 028672 = -0.0006 m2 * 12

. 621

. 007

m2

m2

IV F

.614

m2



2.2.6 TYPE-C2

TYPE-C2 fe TE % N= 1 &Ffr
ERC-IIEEHR
mEE A= 4.367 m2
RH% A= 2.646 m2
& i = 7.013 m2 1 = 7.013
WF-115%ExR
EEEH A= 0.856 m2 1 = 0. 856
(HEEE
r
TYPE-C2, (cz2”)
{: 20
Y
Y
38
~ N
Y
EF iiif_’, f] 1‘"!
‘L N Bese Pl ta10
10) A00 0 £ 740 ap
|.A lﬂ f ;14D
¥F@EE s
® 8
L0
120 iJ:z 265 . 45 Bl
\e TV
Q X g
ﬁﬁﬁﬁﬁ —_— R IH
—\a—%— 8T “ki; % £ @
L 1> Y F @
e O
S‘ ~ e 1 \[‘,
fzf F793 Fllls fricer
tl//80
L0
{244)
1=H 300300 10418 ¢ 20(889Q0) +-Rib PL 134 )& « 163
&Flg PL 180 < 15 < ) 10 2-Sf FL 135 18« 270
LWeh L. 270 10« 730 4Pl 20 . 22 . 7O
E-Rib AL 2JO « 10« 185 8 -Bolt H12 . 1 (HTBott / FLOT)
FRb AL 270 « JOx 180 BTl M2 (3 FE) (S A00D)
2REF TEL IO . 270 ot Rad Pagx IHGO(MIE TV F). FIOT FEE)
2-0b A 8510 « 270 8- Fof M24 (! P8/ TR/ )
! -Bed FL 34D . 22, $ED 8- Tul M2 (2SO}
/

-Rb P 13L « A
244)

SHO [ 8 -7y v (et BER)

m2

m2

(246>



@ 88 - 1 - H 300%300%10%15%620

O o > RV ol 1]

A= 0.300%0. 620~ (0. 015%0. 300+0. 015%0. 163x4) = 0.172 m2
- EOSUCTE

A= (0. 300-0. 010) *0. 620 = 0.180 m2
- OITJm

A= (0. 270%0. 620-0. 015%0. 850-0. 045%0. 580) *2 = 0.257 m2
- FTIOSUTEE

A= (0. 300-0.010) * (0. 620-0. 580) = 0.012 m2
- TS5V THE

A= ARBEPEME = 0.000 m2

= 0.621 m2
@ $f#R - PL

- 4 - FLG PL 180%15%1140

A= (0. 180%1. 140+0. 015% (0. 180%2+1. 140)) *4 = 0.911 m2
-2 — Web PL 270%10%730

A= (0. 270%0. 730%2-0. 270%0. 010%2) %2 = 0.778 m2
-8 — Rib PL 270%10%185

A= (0. 270%0. 185%2+0. 270*0. 010) *8 = 0.821 m2
-4 - Rib PL 270%10%160

A= (0. 270%0. 160%2+0. 270%0. 010%x2-0. 270%0. 010%3) *4 = 0.335 m2
-2 — Rib PL 75%10%270

A= (0.075%0. 270%2+0. 270%0. 010%x2-0. 270%0. 010%3) *2 = 0.076 m2
-2 - Rib PL 85%10%270

A= (0. 085%0. 270%2+0. 270*0. 010) *2 = 0.097 m2
- 1 - Bed PL 360%22%560 (F-11%%E%R)

A= (0. 360*0. 5602+ (0. 360+0. 560) *2x0. 022) *2 = 0.887 m2

A= —(0. 015%0. 380+0. 015%0. 163%4) *2 = -0.031 m2
-1 - Rib PL 136%15%540

A= (0. 136%0. 540%2+0. 015%0. 136x2-0. 015%0. 136%4) *1 = 0.143 m2

A= (0. 136%0. 380+0. 136x0. 153%2+0. 015%0. 136x2-0. 015%0. 136%2) *2

= 0.187 m2

-4 - Rib PL 136%15%163

A= (0. 136%0. 163x2+0. 015%0. 136) *4 = 0.186 m2



»2 - Sti PL 135%10%270

A= (0. 135%0. 270) *2 = 0.073 m2
« 4 - 160%22%160
A= (0. 160%0. 160+0. 160%0. 022%4) x4 = 0.159 m2
g = 4.622 m2
INEE = 5.243 m2
@ =&
- BRIV R EL (¢ 22.5) : N=16F,
A= -7t /4%0.0225"2 = -0.0004 m2 x 16 = -0.006 m2
s NA T4 0y FEFF (9 28.6) : N=247.
A= -7 /4%0.0286"2 = -0.0006 m2 x 24 = -0.014 m2
H = -0.020 m2
it = 5.223 m2
O/Mgt
1) RC-3F%& %R
A= 5.223 - 0. 856 = 4.367 m2
2) F-112%: % (Bed&B#1)
A= 0.887 -0.031 = 0.856 m2



QD RHE

§
740
| 395

- b
B H

//

4| 1S0XT5XE.5 X | [40(SS#00)
4-Rib Pl 50X 15X 160
4-knch P1 60X 15X 160

2-Base P1 220X 10X //40
g -HTB M6 x 50 (FroT, 1)
B-HTE MIe n5E ¢ » v )

@ F8M - 6 — [ 150%75%6. 5%1140
A= ((0.150+0. 07592) *1. 140-0. 075%0. 420) *6

@ #f#R - PL
» 4- Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *4

* 4 - Anch PL 160%15%160
A= (0. 160*0. 160+0. 160*4*0. 015) *4

+ 2 - Base PL 220%10%1140
A= (0.220%1. 140+ (0. 220+1. 140) *x2%0. 010) *2

1. 875

0. 081

0.141

0. 556

m2

m2

m2

m2

@ R
- RABNATU248y FEFH (628. 6)
FLEAI+ (9 28.6) : 12FL
A= -7 /4%0. 028672 = -0.0006 m2 * 12

2. 653

-0. 007

m2

m2

N

2. 646

m2



2.2.7 TYPE-G3

TYPE-C3 jfe TE % N= 1 &Ffr
ERC-MZE X Z
mEE A= 8.339 m2
RH% A= 2.643 m2
& E = 10.982 m2 * 1 = 10.982 m2
WF-11ZE%%R
mon A= 0.275 m2 * 1 = 0.275 m2
M&EE
TYPE - Ca3
i m E s-r20 W E A ¢ =i20
4 18, /qélﬁo mgwé&:-’g
i faa/;g_zgﬁ) #2010 188 10
™ T N .
Sl 1T 1o —
= : 3
) i 8 4
1 2P
s e T s
R " [ )
¥/ /L 22 (=4
L£720
% S SFD T %
- N
g Fiy

Jgé | ?2
| 0 o

M L,6 L LR
e Sei20
® B
360
187 L
%2851 E 5.
. Y |
LS AT
¥ H ik
v E ’%;% r
~ & » T O
ji Dercd
Q,ﬂ.. - .7=,->/’fﬁ1r:I{I]
GAtET
f 7285 Ha

& ﬂ?
T80 ]I 300 2300 0 1. 62O (SSFOO) F-Rib AL 400« 15« 42/
! F73FLIJO- 18 MO [/ -Bed PLIEO « 22 . 380

2

J
+_
Z-Web PL 270 4 1O .
8-

+--Rib PL 270

RO ~Rib PL 1BE < 18 x b2/
Rib PL 270 « 1O« 185 F-Rb FLIES « 1§ » 82/
L0 . 160 F~Bolt M2 « 130 (HT.8ol T/ FIOT)
2-Rib P 75 /0« 270 £ =Pyl M2 (I ) (SSPOD)
2-Rb A 8 10, 270 F-Rod P29- < | £50CM18 75 Y FOT FEE)
i 2-SHfPL 138 < 15 . 270 E-Fu kb MrF (S HE ST B R
i 4-FL 160« 22 . 1O 8- Ful M2t (37 (SS4C0)

| -Flg PL 700 . 1 « 750
I-Web AL b2/ « 1O « 7O

8= Pt~ (M4 BIEH)



@ 88 : 1 - H 300%300%10%15%620
S B VA 1]
A= 0.300%0. 620~ (0. 015%0. 300+0. 015%0. 163x4)
- EISUCTE
A= (0. 300-0. 010) *0. 620
-DIJM|E
A= (0. 270%0. 620-0. 015%0. 850-0. 045%0. 580) *2
- FTI75VC LM
A= (0.300-0.010) * (0. 620-0. 580)
- FTISVCTE
A= AR5 RiEfhmE

@ $f#R - PL
-4 - FLG PL 180%15%1140
A= (0.180x1. 140+0. 015% (0. 180%2+1. 140) ) %4

=2 - Web PL 270%10%730
A= (0. 270%0. 730%2-0. 270%0. 010%2) *2

- 8 — Rib PL 270%10%185
A= (0. 270%0. 185%2+0. 270«0. 010) *8

*4 - Rib PL 270%10%160
A= (0. 270%0. 160*2+0. 270*0. 010%2-0. 270%0. 010%3) x4

»2 - Rib PL 75%10%270
A= (0. 075%0. 270%2+0. 270*0. 010*2-0. 270%0. 010%3) *2

* 2 - Rib PL 85%10%270
A= (0. 085*0. 270%2+0. 270+0. 010) *2

» 2 - Sti PL 135%10%270
A= (0. 135%0. 270) *2

« 4 - 160%22%160
A= (0. 160%0. 160+0. 160%0. 022x4) x4

* 1 - FLG PL 400%15%980
A= (0. 400%0. 980+0. 015% (0. 400%2+0. 980) ) *1

=1 - Web PL 621x10%960
A= (0. 621%0. 960%2-0. 270%0. 010%2) *1

172

.180

. 257

.012

. 000

m2

m2

m2

m2

m2

. 621

911

. 118

. 821

. 335

.076

. 097

.073

. 159

.419

187

m2

m2

m2

m2

m2

m2

m2

m2

m2

m2

m2



*4 - Rib PL 400%15%621
A= (0. 400%0. 621x2+0. 015%0. 400) *4 = 2.011

-1 - Bed PL 360%22+380 (F-11Z% %)
A= (0. 360*0. 380%2+ (0. 360+0. 380) *2x0. 022) *1 = 0. 306
A= -(0.015%0. 380+0. 015%0. 163*4) *2 = -0. 031

» 2 - Rib PL 185%10%621
A= (0. 185%0. 621x2+0. 185%0. 010) *2 = 0.463

*4 - Rib PL 163%10%621

A= (0.163*%0. 621*%2+0. 163*0. 010) *2 = 0. 408
B = 8.013
INT = 8.634
@ $ERR
- BfFARIL RFL($22.5) - N=16FL
A= -7 /4x0.022572 = -0.0004 m2 =+ 16 = -0. 006

" NATUEA0y FEATH ($28.6) : N=24FL
A= -7 /4%0.0286"2 = -0.0006 m2 *x 24 = -0.014

i o= -0. 020

.614

op
=111}
—+
1
(o)

O/Mat

1) RC-3ZE X
A= 8.614 - 0.275 = 8. 339

2) F-11ZEE % Bedifi#t)
A= 0.306 -0.031 = 0.275



QD RHE

k. 7& #
o <
e, i
» : |
o | i
| il
SR ) L m
Nk | F &
| P‘IEE Ak
By I %

+'£ -’SO‘ 75:6-‘;u //‘fO(JJfOO)

4-RbFALSO N « 160 Z-HTB M/L xS0 (Fro7, 1%

4-Auek FL 160+ 154 /6O B-HTB M1& 55 ( ~

2-Base L. 220« /0 1190

@ F8M - 6 — [ 150%75%6. 5%1140
A= ((0.150+0. 07592) *1. 140-0. 075%0. 420) *6

@ #f#R - PL
» 4- Rib FB 50%16%160
A= (0. 050%0. 160%2+ (0. 050%2+0. 160) *0. 016) *4

* 4 - Anch PL 160%15%160
A= (0. 160*0. 160+0. 160*4*0. 015) *4

+ 2 - Base PL 220%10%1140
A= (0.220%1. 140+ (0. 220+1. 140) *x2%0. 010) *2

1. 875

0. 081

0.141

0. 556

m2

m2

m2

m2

@ R
- RABNATU248y FEFH (628. 6)
FLEAI+ (28.6) : 16FL
A= -7 /4%0. 028672 = -0.0006 m2 * 16

2. 653

-0.010

m2

m2

N

2. 643

m2



23 N (TvE40YF
2.3.1 £&88

(1) %A : TYPE-AT

BRTE = 2 £
248y K = 6 FE
A4 0y KE@mm) = 24 mm
IR (mm) = 799 ~
BEmME A= 7t x0. 024%0. 801%6%2
(2) 224 : TYPE-BI
ERTEL = (-
240y KH = 6 A/H
240y KFE@m) = 24 mm
FEETE R (mm) = 800 ~
BT A= %0, 024%0. 800%6%1
(3)Z2 & : TYPE-B2
BRTE = T &
240y K = 6 FX/E
A4 0y KE@mm = 24 mm
IR (mm) = 800 ~

REWEE A= 0. 024x0. 80061

803

800

800

TR

Fiak

Figk

801

800

800

0.725

0. 362

0. 362

m2

m2

m2



(4)%%& : TYPE-B3

BT = [
248y R = 6 AR/H
40y FE@m = 24 mm
BLHEER (mm) = 855 ~ 855 = FHE 855
FEEE A= 7t %0. 024x0. 855%6%] = 0.387 m2
(5) 24 : TYPE-CI
R = 2
240y FH = 4 F/E
240y KE@mm = 24 mm
BT R (mm) = 810 ~ 810 = FHE 810
RS A= 7t %0. 024%0. 810%4%2 = 0.439 m2
(6) %24 : TYPE-C2
BT = [
240y R = 4 K/E
40y FE@m = 24 mm
BLEER (mm) = 810 ~ 810 = FHE 810
FEEE A= 7r*0. 0240, 810%4%1 = 0.244 m2
(7)&&4& : TYPE-C3
R = (-
240y FH = 4 K/E
240y KE@Mm = 24 mm
BHEIER (m) = 810 ~ 810 = THE 810
BEmE A= 7 %0. 024%0. 810%4x%1 = 0.244 m2
& & = 2.813  m2



2.4 XHER

2.4.1 BRIV

APJERHERFE X
6348 Br m B (IR ‘
3643.35 2700
_1 2060 ‘
g |
= = |
% Yo f ‘
2 f !
it | | |
~N I
] [l
o | o as |
J P |51
i i | | ‘
8 T : J
g ¥~ ,,,,J J . ! ‘
% 1
E | s ‘
z \E 3
b= %ﬁ 330 | 2040 | 330 ‘
2700 ‘
5 |
— _ 749*3#7 ‘7‘ o
=3 ;
2700 |1645.45| 1997.9 | 2185.4 | 1997.9 | 1997.9 | 1997.9 | 1997.9 3918 3900
6348 10187 17122
@)
1) BB (&)

A1=2.960%6. 348
A2= 1/2%1.600*1. 600
A3= 2. 960+ (4. 200+4. 300+6. 750) =
Ad= 1/2%1.600*1. 600
A5= 2.960+6. 348
A6= 2.960%10. 187

18. 790
1. 280
45.140
1. 280
18. 790
30. 154

m2
m2
m2
m2
m2
m2

115. 434

m2



) AT FRAEEER : 6E*T 4 AR

A= 0. 040%0. 075%6x7 = 0.126 m2
3) BT 5
A= 0.050% (6. 348+2. 700+4. 200+4. 300+5. 150+1. 600y (2)+1.998+10. 187)
= 1.857 m2
A= 0.050%(1.998+1. 600*4 (2)+2. 600+4. 300+6. 750+2. 700+6. 348+10. 187)
= 1.857 m2
4) BIRIHER
A= 0.020x% (6. 348+2. 700+4. 200+4. 300+5. 150+1. 6004~ (2)+1.998+10. 187)
= 0.743 m2
A= 0.020%(1.998+1. 600%y (2)+2. 600+4. 300+6. 750+2. 700+6. 348+10. 187)
= 0.743 m2
5)#ER% - T4 R
A= -0.070%0. 070%7 = -0.034 m2
&5 & = 120.726 m2
6)aAdrhER
A= 18P
= 0.075%1 = 0.075 m2
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BBYaf (] OnMi) BURL 1O 9,980
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e — ERT
(-// .
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¥ BiRUa MM By
25 x 2992 = 0075 m
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FET(RHER) RI@ER

25
—bpe— 9,980 i
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